o o

'$ fri-jado

WHEELED FRAME C1

TDR5/TDR 7/8

TYPE 5 code 9298001

TYPE 7/8 code 9298020

A Remove protective plastic before assembling

1 M8x16 2 M8 3 4 5 6
P _/"-' //f.::‘i) )
L e § ‘E/ = \ @-’
= C,‘,/: 2 [ T~ AN
= N &
(24x) 4288233 (4x) 9008518 (2x) 9172065 (1x) 9294396 Type 5 (4x) 9113070 (2x) 9172066
Type 5/ Type 7/8 Type 5/ Type 7/8 Type 5/ Type 7/8 (1x) 9294303 Type 7/8 |Type 5 Type 5/ Type 7/8
7 8 9 10 M5x12 11 12 M8x12
j “/‘/_?;7‘_/ /\1\,;\‘-
U(=2p
P 1‘\.7 :;/
(2x) 9294309 (1x) 9294349 Type 5 (1x) 9294348 Type 5 (30x) 4288232 Type 5 (2x) 9294397 Type 5 (4x) 4288330
Type 7/8 (1x) 9294302 Type 7/8 |(1x) 9294301 Type 7/8 |(32x) 4288232 Type 7/8 [(2x) 9294308 Type 7/8 |Type 5/ Type 7/8
13 14 M8 15 Ring 16 17 18 M4x12
er)

(4x) 0142315
Type 5/ Type 7/8

(1x) 9294326 Type 5
(1x) 9294306 Type 7/8

e

(1x) 9294324 Type 5
(1x) 9294304 Type 7/8

(1x) 9294325 Type 5
(1x) 9294305 Type 7/8

(2x) 9174667
Type 5/ Type 7/8

(2x) 9294327 Type 5 (4x) 0141547 (1x) 9171141 (1x) 9110129 (10x) 0141343
(2x) 9294307 Type 7/8 |Type 5/ Type 7/8 Type 5/ Type 7/8 Type 5/ Type 7/8 Type 5/ Type 7/8
19 M5 20 21 22 23 24 M4

(10x) 8071043
Type 5/ Type 7/8

9123832/1706




5 (Type 5)
7 (type 7/8)

Note: Brake casters can be placed at any position

P/AN

D

Secure the unit to the building structure. Check
to confirm that, when the appliance is moved to
the limits of the tether in each direction no stress

is transmitted to the electrical conduit.
Fixate the TDR with pos 1 to the support.

9123832/1706




Mounting TDR on UF

Mount with 4x 4288233




